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Séitani a odeéitani v oboru do 20 s pfechodem desitky

4+ 8= 6+7= 14 -3 = 11 -4 =
5+47= 7+4= 12—-9= 15-=8=
6+6= 7+9= 14 —~8 = 16—-9 =
4+7= 5+6= 11=9= 18 -9 =
9+2= 6+8= 13-4 = 12-7 =
7+7= 8+3= 15~7 = 14-5=
7+4= 4 +9= 17-9= 14-9 =
5+8= 5+6= 11— 8= 15-8=
6+5= 9+9= 12~38= 17 -9 =
9+7= 8+8= 17-8= 11-5=
8+8= 3+6= 14-6= 17 -8 =
8+5= 9+3= 13-98= 16 -9 =
3+8= 2+8= 11-9= 13 -5 =
9+56= 7+8= 11-6= 12-7=
6+5= 9+8= 15~7= 14 -8 =
9+9= 6+8= 16-8= 11-8=
9+3= 8+9= 18-9= M1-7=
8+6= 7+6= 16-7= 12-9=
6+9= 6+6= 13—4 = 14 -5=
6+7= 7+9= 15—-8= 158 =
8+7= 5+9= 14-6 = 12 -4 =
7+9= 4+7= 15 = 15-6=
4+9= 9+3= 12-7 = 11-4=
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38 Nemdas—Ii tam chybicku, vybarvi si mysicku.
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Nemas—Ii tam chybicku,



